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AE~ADEMIT S KEEADEMNZXT B KEBADKEEYIZXT S

BR SHEATTHEHE SHEAFTHIEE HHEAMTHHE

T mmEsa | acevm | mEems (o) | AT (o'
1 |MZEh 3,312,669,367 |:ZA™T 250,099 |ANZE™H 56,721,027
2 |EEAT™ 335,095,299 | =4 168,145 | AREIEBE = LLIET 53,466,792
3 |BEM 16,970,139 | inZEh 121,838 | S =FEHiHFIR 53,134,938
4 | R8T 7,560,711 |BH&™ 96,355 |BET™H 48,831,353
5 |AEM 7,151,778 | AfEERE 2 LLE] 94,723 | P&EH 38,046,655
6 |Emh 6,731,350 | FATH 79,401 | RAH 5,224,050
7 | REREAR/NEEETET 6,265,385 | SUL\=EMHHAIR 75,186 | EET 2,493,072
8 |k 6,252,691 | P& 55,058 |#05cTH 1,772,972
9 |#IH 5,560,006 | 0T 46,035 | SLN=FEHmAEARX 751,368
10 |B&® 4,525,548 | AEH 34,380 | &)l 625,868
11 | ELEH 4,467,713 |#&)IITh 14,804 | SLM=FEH#RER 604,103
12 | L RBREE A DT 3,765,718 |3RFth 12,295 | RET 521,013
13 |&EHET 3,732,895 | /\i#ith 9,050 | =4 430,021
14 |SWZi=FEmahRx 3,586,382 | AT 7,862 |SLZV=FEHRRIAR 387,187
15 | tbA BB = LLIET 3,475,926 | )T 6,785 | FET 333,070
16 |EREETH 3,418,291 | AEmH 4,733 |BaH 330,926
17 | AR 3,365,434 | fRAE 3,512 |3RE ™ 330,260
18 At 3,181,877 | L2 3,174 | ARAR= 35 BT 266,304
19 | tbsBBiE)IIET 3,137,470 | Ehoth 2,400 | #&RH 253,116
20 | AR ER#S A ET 3,127,000 |REAT 1,988 J¥EUTHh 168,137
21 |B&E™ 3,011,526 | LkA=ER:E I BT 1,910 | 8REETH 153,785
22 |3 2,728,773 | Itk 1,695 |J\#EAh 146,484
23 |/\#ith 2,262,833 | SLM-FEHAR 1,395 | IR EZB4) 1| ET 145,328
24 |#aH 2,070,131 | SLZ=FEH#RE 1,156 Ik 106,623
25 |4THE™ 1,560,476 | ER#ILTH 822 |t 59,933
26 |#Xh 1,457,432 |ZWZ=FmREK 682 |JIlA™H 48,213
27 |BEm 1,394,903 | &R 407 |AEM 26,742
28 | AREM 1,022,557 | AREIER=5HT 356 | LbAEERIE)IIET 11,742
29 | ELAER/IN 1 ET 950,749 |4TET 301 |REA™ 10,801
30 | ARER=5HT 822,996 |E=FmH 237 |=FmH 5,444
31 | AL#Fm 736,936 | 'R EAR44)1ET 235 |SLV=EMER 1,651
32 |\REZR#)IET 735,022 |3l 196 | #R X ARAEAART 1,172
33 |Em#um 694,425 | B R ER/NEe EF ET 99 | R 653
34 |FriR™ 692,206 |JIIA™H 53 |&sy BT 385
35 | & 640,936 | ERiE AT 37 |{THT™ 210
36 | KEAEEET 485217 | SV i=FHEHRE 17 | B R EB/)N e Er T 40
37 |FHEmM 479,392 | EBEH 9 |EWVEFEHEMEK 11
38 |t BILERIFRAT 372,364 |EBx BT 9 | FriRmh 8
39 | LB ERERILIKET 343,110 |FriR™ 8 | &EHERM 4
40 |=Fh 280,163 | ARSI 1 | ARH 0
41 | =$hh 275,424 | Eb A ER/IN 1 BT 0 | tb{E ARG LIET 0
42 |8~ BH 262,288 |EX R 0 | KEERH EHET 0
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] (10°m?/ ) HRATH 4 (10°L/ ) AT £ (10°L/%)
43 | FEmRX 247,026 | LEREREE HVAOHT 0 |SL=FEmtX 0
44 | FiEET 199,294 | B&th 0 |E@EH 0
45 |EHET 185,058 | REA L EHY 0 | tbE AR = LAY 0
46 |\REER=EHT 175,970 &L Vvi=FHER 0 | Emh 0
47 |eW=FEmREBR 174,188 | Lb B35 RET 0 | #iEET 0
48 |ESLV=FEHALR 165,032 | &LV =FmALRE 0 | FAREREARET 0
49 |F0xT 151,479 | xR EBES EFET 0 | ERABRFAR A 0
50 |'REZRLEHT 149,439 | SWVETARER 0 | B&h 0
51 |IRE™ 147,400 | 'R EZf = B HT 0 |EAE™ 0
52 |EE™ 132,828 |dt AT 0 |ELZ=FEmmX 0
53 | LA RET 118,238 |FEZEEN=E K ET 0 | LbA=ER N1 ET 0
54 LB ERARAZ FHT 113,119 | LS ERER4Z FET 0|ExRm 0
55 |SLMzFEMmmRX 104,677 | Lbf2B)1| SET 0 | tbA=ER)I| S BT 0
56 |SLM=FHAERK 91,007 | =FE K 0 | LB S R AT 0
57 |SLM-FEMHEE 83,585 | L ERAS LLIET 0 |FaaEEEHHE 0
58 | A[EIERE = ILET 76,633 | B 0 | LB EBEE ASHOET 0
59 | Bk Bt AT 65,550 | FTEETH 0 |t EEnER42 F BT 0
60 | LLiER)I SHET 59,289 |t B BRIFEMET 0 | REAER & EF AT 0
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